2RXS J161807.4+620829

gamm*meka

930623 0169

= | E
B —t— i
i —+— _
i 1
_| I [TTR N AN E [T RO O A B (1T AR N | qu:
A
s & =2 g
(A93 s zwd)/suojoyd
LALJLBLNL LLLLELE B S |10 I N 1110 M e 1}
[ | ]
— 1 I _
B —— _
i —+— _
4
I _
%
- i
:|||| TIT NN A (TR N A [T R N A IF
7 8 i Y
s & 2 g
(A s)/s3uno)

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

1.77E-02

- (] —
o o o
+ + |
2 2 g
S @ @
w0 © —
| | |
+ + +
— - i [sp]
~— o (= (@]
| + | |
=1 23] = [£3]
© o [ —
m S 0 o
R B
Il
[} ]
-
© — ]
S ] >
()
o % Il ] E
. 2 = o
n = z ) z
T T T T[T T T [ TTT]
*R
K — i
» .
I -
AEEEEEEEE NN -
< a o C})
sjenplisay

1.00

0.10

10

X2%red = 4.267

Energy/keV



